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Kol To

AP/[BCaIculusBC
: Smlth  , o

Exam-Chapter Five
Section I-Part £
Number of Questions-10

A»:graphingrc’i;lcplﬁtqr ISNEEDED to do some problems on this section of the exam.
1. If y>-2xp=21, then % at the point (2, -3) is

[a] -6/5 A[b]? —3/;57 ;.[c;]’ ;2/5'; [d378 ¢ el 3/5:

2. Ifthe graphof f(x) —Ax2+Bx+C where A, B and C are: (lonstants passes through the: pomt
(-1,-15) and attams a relatxve maximum at the point (2,3), then the values of A, B, and Cmustbe

[ A-2,B=8,C=5 0‘/» <+ B>O _
@A;‘Z%B_:ﬁ%fc,’ﬁ's - J’,f 3=

[e] A=-2; BF"S“@“—%“W

~Z+ %)




3. A mlssile rises vertically from a point on the ground 75,000 feet from a radar station. Ifthe
missile is 1ising at the rate of 16,500 feet per minute at the instant when it is 38,000 feet high,
what is the approx1mate rate of change, in radians per minute, of the missile’s angle of elevation
from the radar station at this instant? ‘

[a] 0175 [b] 0.219 [c] 0227 : [d] 0469 [e] 0.507

ks
' e <7$c9c3 )
Im QP2 , A
B T /3)(9) e ;
[a] 36 Rz R [ 2 el 0

5. Suppose that f isa tvwce-d1ﬁ‘erent1able ﬁmctlon and f( —x) %) for all real numbers x.

If f(Z) 2, then f f’(x)dx =

2] -4 m o2 o o2 [e] 4

e



6. Given the graph above of f(x)=tanx ,where 0<x < % ,if the tangent line at x = % is used

to approximate tan (—Z—j , which of the following will be true?

[a] the approximation will be greater than tan (-755)
[b] the approximation will be less than tan (ZST—)

[c] the approximation will be equal to tan (15[-)

[d] there is not enough information to determine the accuracy of the approximation

7. Ifa tangent line is used to estimate the value of 7'(2.01) for the function f(x)=logx,
then the approximation is...

[a] 303196 [b] .301030 @ 303201 [d] .306030

C’! ’“‘0,3’"}2:
d

2
8. Aright sum approximation for .f%/; dx isn rectanglesis..

0
[a] 3\/:2-4-3&/3-}—-{/54—3&/2-—;?::‘2 [b] {iﬁq”*.:{/z.{.i/g.}.‘j M]%
Nn \n \n n |n n \n \n ™\ n |n
[c] i/21+1{/22+i/§-+...3 %ﬁi‘—l- [d] none of these
| V2n n n n|n




9. The average value of f(x)=cost from #=.7 tor=1.1 is

[a] 9999 [b] 7781 [c] 2470 [d] 6175

100 TF %-&- y=0 andif y=3 when x=2 ,whatis the approximate value of y when x=47?

[a] 2.635 | [b] 2336 [c] 2.031 » [d] 1883

‘JY*%;D
%
4
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